@ Tag us on Instagram! TERN M\/\A/QI/E\/R\’
SR

@sternmastermarinetools . ™
MarineTools

n Follow us on Facebook!
Facebook.com/SternmasterMarineTools INDUSTRIAL SHOP CART

SMALL SHOP CART & ALL TERRAIN

-

ME-200, ME-210 & ME-210AT
PRODUCT MANUAL

#1USA
MANUFACTURED

TERNMASTER

MarineTools™

CustomerService@Sternmaster.net

1-800-305-8117 CustomerService@Sternmaster.net

www.SternmasterMarine.com 411 N Centennial St SternmasterMarine.com

Facebook.com/SternmasterMarineTools Zeeland, M| 49464 1-800-305-8117



1/7

2——>

5 —>+itd
1111

el
6— "

114
1111

ME-200 SHOP CART

ASSEMBLY INSTRUCTIONS
ME-200 SHOP CART

3/8"x 1" Carriage Bolts, Washers, Lock Nuts

-Attach casters to the body

Handle is Welded to Body

ASSEMBLY INSTRUCTIONS
ME-210, 210AT SHOP CARTS

# (Qty) Part Name #
1 (1) Shop Cart Body 4
2 (2) Rigid Wheel 5
3 (2) Swivel Locking Wheel| 6

Qty) Part Name
3/8"x 3/4 Bolts

3/8" Lock Nuts

3/8"x 1" Carriage Bolts, Washers, Lock Nuts

-Attach casters to the body

6)
6) 3/8" Flat Washer
6)

ME-210, 210AT SHOP CARTS

# (Qty) Part Name #
1 (1) Shop Cart Body 6
2 (2) Rigid Wheel 7
3 (2) Swivel Wheel 8
4 (16) 3/8"x 3/4 Bolts 9
5 (16) 3/8" Flat Washer 10

(Qty) Part Name

16) 3/8” Lock Nut

1) Cart Handle

4) 1/4" Lock Nut

4) 1/4" Flat Washer
)

(
(
(
(
(4) 1/4" x 1" Bolt

7 1/4"x1" Bolts, Washers, Lock Nuts

-Attach the handle to the top of the cart

Additional Notes:

-The ME-210 and ME-210AT come with a clipboard holder which sits
on the pan lip by the handle




